Missed Questions on Exams

To reveal the answers on our exam, you need to click on the "hide/reveal" icon (Paragraph Icon) in word.  This will reveal the answers.
1. The process of determining the probability and cost potential loss is known as:

a. Probability Risk

b. Risk Assessment

c. Potential Loss Analysis

d. Physical Security

Answer: C 
Potential Loss Analysis 

2. Many experts agree that the most important deterrent to internal theft is:

a. Threat of dismissal

b. Fear of discovery

c. Threat of prosecution

d. Conscience pangs

Answer: B 
Fear of discovery 

3. When not in use, top secret material should be stored in:

a. Class A vault

b. Class B vault

c. Class C vault

d. Class D vault

Answer: A 
Class A vault 

4. Spotting the individual loss events that might take place is the primary step in dealing with security vulnerability.  This process is called:

a. Loss event probability

b. Threat assessment process

c. Loss event profile

d. Actual threat analysis

Answer: C
Loss event profile 

5. Which of the following should not be part of a vulnerability test plan?

a. Plan should be in secrecy

b. A priority of targets should be established

c. Test the same target on a continuous basis

d. Select qualified people

Answer: C
Test the same target on a continuous basis 

6. The real value of cost effectiveness data gathering lies in the capability such data establishes to:

a. Make periodic cumulative reports to senior management

b. Analyze countermeasure effectiveness

c. Identify vulnerable assets and procedures

d. Reduce fraudulent claims for worker’s compensation

Answer: A
Make periodic cumulative reports to senior management
7. The most important factor in achieving cost effectiveness in your security program is the recognition and application of the principal of

a. Probability

b. Vulnerability

c. Risk analysis

d. Leverage

Answer: D
Leverage 

8. The NLRA did which of the following

a. It amended the Taft Hartley Act of 1947

b. It prohibited specific management practices

c. It established safeguards on the conduct of union management

d. It established intrastate regulations regarding Labor Relations

Answer: B 
It prohibited specific management practices 

9. Labor Relations is broken down into three major subject areas.  They are

a. Management relations, industrial relations, personnel relations

b. Personnel, organization representation matters, and bargaining

c. Contract administration, contract negotiations, and organization/representative matters.

d. Contract administration, contract negotiations and grievance procedures

Answer: C
Contract administration, contract negotiations and organization/representative matters 

10. In a situation where there is air turbulence caused by air conditioning and there is activity adjacent to the protected area, which combination of motion sensors may be used to reduce or virtually eliminate false alarms?

a. Passive infra-red and microwave

b. Ultrasonic and passive infra-red

c. Ultrasonic and microwave

d. Capacitance and ultrasonic

Answer: C
Ultrasonic and microwave

11. Barriers are used to discourage three types of penetration

a. By tools, by explosion, and by lemon pie

b. Partial, full and surreptitious

c. By accident, by force, and by stealth

d. By employees, by the general public and by terrorists

Answer: C
By accident, by force and by stealth

12. As a general rule, local law enforcement has very little effect on many crimes against business.  However, there are some crimes that would be the exception.  Which of the following would be the exception to this general rule?

a. Shoplifting

b. Employee theft

c. Embezzlement

d. Burglary

Answer: D
Burglary

13. Perhaps the most common shortcoming in the security industry is

a. Lack of support by top management

b. Failure to properly prepare and equip new supervisors with tools to discharge their important responsibilities (supervisory training)

c. Lack of planning

d. Lack of monetary resources

Answer: D
Lack of monetary resources

14. The percent of the world’s production of illegal drugs consumed in the United States is approximately

a. 5%

b. 25%

c. 60%

d. Don’t look at me!

Answer: C
60%

15. With regard to a possible nuclear attack, the attack warning signal is

a. 30 second long alarm

b. 2 minute long alarm

c. A 3-5 minute wavering sound in siren or a series of short blasts or whistles

d. A 30 second wavering sound

Answer: D
A 30 second wavering sound

16. Protective lighting must be designed to discourage unauthorized entry and

a. Prevent internal pilferage and illuminate the exterior of all buildings

b. Illuminate all fence lines and use electrical power efficiently

c. Aid in the detection of intruders and use electrical power efficiently

d. Aid in detection of intruders and prevent internal pilferage

Answer: D
Aid in detection of intruders and prevent internal pilferage

17. SWOT Analysis, i.e., assessing an organization’s Strengths, Weaknesses, Opportunities and Threats is most closely associated with

a. Budgeting

b. Strategic planning

c. Benchmarking

d. Competitive intelligence

Answer: D
Strategic Planning

18. You are the manager of a security company.  You have an opportunity for new business that will generate $5,000 a month.  You decide not to take on the account because the additional revenue generated by the account would be less than the additional cost to service the account.  The process used to make this decision is

a. Break even analysis

b. Game theory

c. Margin analysis

d. Linear programming

Answer: C
Margin analysis

19. What is considered to be the most prized talent of the investigator?

a. The ability to obtain information

b. Questioning suspects and witnesses

c. The ability to prove guilt

d. The ability to prove innocence

Answer: D
The ability to obtain information

20. What are the three “I’s” that are referred to as the tools of the investigator?

a. Intelligence, information, and investigation

b. Instrumentation, investigation and information

c. Investigation, information and interrogation

d. Information, interrogation, and instrumentation

Answer: D
Information, interrogation and instrumentation

21. Security executives should be aware of “corporate culture” which is

a. The history and experiences of the company

b. A program to recognize the achievements of minority groups

c. Another dimension to an organization

d. A program to prepare for visits by the corporate office

Answer: C
Another dimension to an organization

22. A security professional must consider every type of possible emergency because

a. With careful planning, damage from unexpected events can be prevented

b. Federal emergency assistance can only provide support if it is aware of the possible occurrence

c. The state will then be prepared to respond to the event

d. Emergency management resources are limited

Answer: D
Emergency management resources are limited

23. There are two generic types of Closed Circuit Television (CCTV) sensors:

a. Tube and solid-state

b. Electron beam and tube

c. Coaxial and wireless

d. Solid-state and fiber optic

Answer: A
Tube and solid-state

25.
A natural hazard, which poses a threat to many areas of this country, is a hurricane.  As soon as the weather forecaster determines a particular section of the coast will feel the full effects of a hurricane, he issues a hurricane warning.  Such warnings specify the following:

a. Coastal areas where the eye of the storm will pass

b. Coastal areas where winds of 74m.p.h. or higher are expected

c. Coastal areas where inhabitants should listen closely for further advisories and are ready to take precautionary actions.

d. The fact that there are definite indications a hurricane is forming and a name to the storm is given.

Answer: B 
Coastal area where winds of 74mph or higher are expected 

26.
Which of the following is not an element of a serious crime, which must be proved for conviction?

a) Motive

b) Criminal Intent

c) Criminal Act

d) Concurrence between act and intent

Answer: A
Motive

27.
Impelling type of leadership tends to reduce employee dishonesty because:

a) It sets a good example

b) It creates discipline

c) It reduces employee frustration

d) It improves morale

Answer: C
It reduces employees frustration

28.
Employee attitudes are directly affected by:

a) By the supervisor’s attitude

b) By the supervisor’s actions

c) By lack of recognition

d) By personal problems that originate within and outside the organization

Answer: D
By personal problems that originate within and outside the organization

29.
This type of lighting provides a gradual light level change from a brightly lighted area to a dark area.  It is often thought to be the most critical problem that needs to be considered in outdoor lighting schemes.  Too much light, then progressing to a darker area can inhibit visibility.  This type of lighting is commonly referred to as:

a) Continuous 

b) Transitional

c) Quality of Lighting

d) Coverage Factor

Answer: B
Transitional

30.
The following statement from the Handbook of Loss Prevention and Crime Prevention best describes which of following light sources?  Slightly emphasizes blues, yellows, and greens.  Has good overall color balance, comparable to daylight.  Clear lamps give better color rendition than deluxe white mercury… It is rated at 80-115 LPW.

a) Incandescent

b) Fluorescent

c) Low Pressure Sodium
d) High Pressure Sodium
e) Metal Halide
Answer: E
Metal Halide

31.
Which of following statements best describes “Discipline?”

a) “Training the corrects, molds, and strengthens an employee…”

b) “Educate an employee and serve as a means to an end…”

c) Punishment

d) Should only be directed at the inefficient worker.

e) A & B

f) A, B, & C

Answer: F, 
(A, B, &C) – Training, corrects, molds… Educates… and Punishment

32.
Charles Sennewald identifies this characteristic as one of the most important in a manager.  He states “…will lay a solid groundwork for working with other people and helping with their failures and problems, or for setting a climate where… it can become contagious…No manager or supervisor can ever hope to discipline others effectively…” if he does not have this?

a) Self Discipline

b) Effective Communication Skills

c) Disciplines in an educational manner

d) Shows restraint with ineffective employees

Answer: A
Self Discipline
33.
Private security is clearly the nation’s primary protective resource, outspending public law enforcement by 73% and employing how many more personnel?

a) 1 times

b) 2.5 times

c) 6 times

d) None of the above

Answer: B
2.5 times
34.
An “emergency” in business planning terms, is any situation that:

a) Is the result of poor management and lack of foresight

b) Any situation that diverts an organization from it’s usual operations or production, wasting time and/or financial resources

c) A turning point which escalates in intensity

d) All the above

Answer: B 
“Any situation that diverts an organization
35. This individual offered the first burglar alarm service and purchased the design from Augustus Pope in 1858 

a) Henry Wells 

b) William Fargo

c) Washington Perry Brink

d) Edwin Holmes

Answer: D
Edwin Holmes 
36. One of the main advantages for the use of a CCTV system in an overall security strategy is: 

a) With the use of motion detection in the system, CCTV can be incorporated into the alarm system

b) CCTV systems provide additional and remote eyes for the security staff

c) Access control systems can be enhanced

d) CCTV systems have proven to be a cost effective alternative to security staff

Answer: B
“Additional and remote eyes”
37. The American With Disabilities Act passed in 1990, greatly extended the area of federal influence to virtually every business engaged in or affecting interstate commerce.  Complaints or investigations of suspected violations of this federal legislation are conducted by: 

a) United States Attorney Office

b) Architectural and Transportation Barriers Compliance Board

c) Office of Federal Contract Compliance Programs

d) Office of Civil Rights

Answer: B
Architectural and Transportation Barriers Compliance Board  

38. Criteria for evaluating the adequacy of security in general include: 
a) Foreseeability of the loss incident

b) The likelihood that a given combination of countermeasures would probably prevent a loss incident

c) The duty to provide such measures, considering the relationship of the parties

d) A, B, & C

Answer: C
Duty to provide such answers
39. What is the primary goal of a physical security program? 
a) Protect people, product and assets

b) Control access

c) Protect classified or proprietary material

d) Minimize liability to the company

Answer: B
Control Access
40. The use of CCTV in an overall security strategy is likely to increase in the coming years.  However, some recommendations made by management to install “dummy cameras” or erect signage that indicates that the property is being monitored by cameras may: 
a) Work to deter criminal activity if properly posted and displayed

b) May cause people to drop their own personal defenses

c) May increase liability to the company providing a “false sense of security”

d) Both B and C

Answer: D
Both B and C
41. What percentage of companies in the United States, Canada, and the United Kingdom has formal disaster recovery plan?
a) 10%

b) 15%

c) 45%

d) 70%

Answer: C
45%
42. Disaster Recovery and Emergency programs ensure the proper flow of _______________when any disaster or emergency occurs.
a) Critical Information

b) Merchandise

c) Personnel

d) All the above

Answer: Critical Information
43. Security objectives when planning locking systems are: 
a) To provide maximum delay time to unauthorized entry into spaces

b) Deter unauthorized entry

c) Maximize the use of a master key system for convenience to management

d) A and B

Answer: D
Maximize Delay and Deter Unauthorized entry
44. What type of searches are the “most” common in a commercial setting? 
a) Locker and vehicles

b) Desk and vehicles

c) Desk and lockers

d) Personnel and desk 

Answer: C 
Desk and Lockers
45. In developing a transportation security strategy, it is important to understand that the most vulnerable points in cargo transportation involve: 
a) Packaging

b) Loading

c) While in transit

d) Unloading

e) B & D

Answer: E
Loading and Unloading

46. Companies should have in place a variety of warning systems that can alert personnel to impending threats.  Some considerations for an emergency alert system should be: 
a) Coordination with local and state warning systems

b) Establish communication liaison with city fire and police departments

c) Train spotters for a variety of adverse weather conditions

d) All the above

e) A and B

Answer: D
All the above
47. A factor that should be considered in planning barrier protection is the prevention of surreptitious entry.  Therefore, the physical protection plan should be designed so that if an intruder does succeed in gaining entry: 
a) Response by security or police is generated

b) Evidence of an entry should be immediately apparent

c) 75 foot clear zones should exist around the perimeter

d) Chain link fencing should be extended to the perimeter of the complex

Answer: B 
Evidence of entry should be immediate


48. Credentials can be classified in one of the three categories: 1) something the person possesses, 2) something unique about the person and 3): 

a. Something the person knows

b. Something the person enters

c. Something the person uses

d. Something the person does

Answer: A
Something the person knows
49. When alcohol is consumed in large quantities for an extended period of time it can damage what major organs of the body: 
a) Brain

b) Heart

c) Liver

d) All the above

e) A and C

Answer: D
All above
50. The cost of vandalism worldwide is generally regarded as incalculable.  Which vandalism act represents the vast majority of activity? 
a) Stoning

b) Etching

c) Graffiti

d) Destruction of property

Answer: C
Graffiti


51. The lecture, a common method of security training, particularly for large groups with little or no knowledge of the subject is: 
a) An ill effective means of motivating learners

b) A method which should be complimented by other learning methods

c) Is the best method for presenting concepts and policies

d) All the above

e) A and B

Answer: E
An ill effective/should be complimented with other methods


52. The most basic idea in general accounting is best explained in which formula: 
a) Ownership (equity) = Assets + Liabilities

b) Liabilities = Assets + Ownership (equity)

c) Assets = Ownership (equity) + Liabilities

d) None of the above

Answer: C
Assets = Ownership + Liabilities
53. When evaluating an employee, which of the following is the most reliable sources of appraisal data: 
a) Immediate Supervisor

b) Peers

c) Customers

d) All the above

Answer: B
Peers
54. Which trait consistently ranks at the top of most peoples list of characteristics they admire in their leader: 
a) Honesty

b) Confidence

c) Compassion

d) Intelligence

Answer: A
Honesty
55. This Act/Law reduced the crime of a first time possession of smaller amounts of drugs from a felony to a misdemeanor, concentrating on the more serious distributors of narcotics: 
a) The Comprehensive Drug Abuse Prevention Act

b) The Narcotic Drug Control Act

c) The American With Disabilities Act

d) The Drug Free America Act

Answer: A
The Comprehensive Drug Abuse Prevention Act


56. If the contribution of a the operating function cannot be quantified, or when quantified, cannot be shown to result in greater net revenue than would be possible without the function, sound management practices dictate that the function be: 
a) Reformed

b) Eliminated

c) Reduced

d) All the above

e) B and C

Answer: E
Eliminated or Reduced
57. The purpose of an adequate loss report is to provide the assets protection professional with a number of statistics to enable them to make quick and effortless assessments and decisions.  The loss report should accomplish or suggest: 
a) Generate suitable information for event profile and modus operandi file construction

b) Help establish accountability for losses or indicate that no accountability control existed

c) Significant number of employees participating in systematic theft is an indication of a larger management issue

d) All the above

e) A and B

Answer: D
All the above
58. The investigator who arrives first to the scene of a crime should first: 
a) Identify and, if possible, retain for questioning the person who first notified the police

b) Safeguard the area of the crime scene

c) Determine the perpetrator by direct inquiry or observation if his identity is immediately apparent

d) All the above

Answer: D
All the above
59. Public law enforcement officers are restricted in custodial interrogation by the Miranda rule that calls for police to inform suspects of the right to remain silent.  However, the courts have ruled that private security while conducting an interrogation of a suspect: 
a) May have to administer Miranda if they have any connection to law enforcement

b) Are not required to read Miranda to suspects taken into custody

c) All the above

d) None of the above

Answer: C
All the above
60. According to UL, vault doors and modular panels for burglary resistance are classified according to the time required to gain entry using common mechanical tools.  Under the UL specification for vault doors, which tool is not considered: 
a) High Explosives

b) Thermal Lance

c) Drilling Attack

d) Attack by manipulation

Answer: B
Thermal Lance
61. Security professionals recognize the importance of early engagement in the planning of new or renovation of existing facilities.  CPTED has been considered a vital component of many security planning projects.  There are three basic components to CPTED; Natural Surveillance, Boundary Definition or Territorial Reinforcement and the third is: 
a) Natural Measures

b) Organizational Measures

c) Natural Access Control

d) Witness Potential

Answer: C
Natural Access Control
62. There is significant legal precedent for holding an employer liable for the intentional misconduct of employees.  If it can be shown that the employer knew or should have known of any history on the part of employees that would suggest they might engage in such misconduct.  This liability is generally described as arising from: 
a) Relevant information

b) Negligent Hiring

c) Negligent Retention

d) B & C
Answer: D
Both B & C – Negligent Hiring and Retention
63. This decision resulted in the following additions or modifications to the Federal Civil Rights Act:  No question may be asked as to prior arrests; a question may be asked as to prior convictions; an application may not be categorically rejected on the basis of one or more prior convictions-held to include guilty pleas and pleas of Nolo contendrere, as well as failures to appear and forfeiture of bond and bail: 
a) Miranda vs. Arizona

b) Garner vs. Tennessee

c) Griggs vs. Duke

d) Gregory vs. Litton
Answer: D
Gregory vs. Litton
64. More proprietary information is lost due to the failure to: 
a) Initiate legal recourse against those who have stolen the information

b) Establish and maintain effective control systems 

c) Implement appropriate access control measures

d) All the above

Answer: B
Maintain effective control systems
65. Perhaps one of the most difficult tasks in planning for disasters and emergencies is the actual formulation of a basic disaster plan.  Which of the following is an incorrect procedure in developing such a plan?
a. The basic plan should provide for coordination of government and company actions before and during a disaster 

b. A glossary of terms used should be included 

c. There should be a listing of types of emergencies limited to those experienced by the company in the past 

d. The plan should utilize appendices as needed such as maps, call-up lists and mutual aid agreements

Answer: C 
There should be a listing of types of emergencies limited to those experienced in the past
66. What are the two primary reasoning behind employee kidnapping:

a. Extort money or action from the employer

b. Obtain recognition and money

c. Get rich and famous

d. Get their needs meet and attention

Answer: A 
Extort money or action from the employer
67. There are two basis types of hostage situations, they are:

a. Standard kidnapping, hostage kidnapping

b. Hostage kidnapping and barricade kidnapping

c. Standard kidnapping & financial demand

d. Standard Kidnapping & Barricade-and-Hostage incident 

Answer: D 
Standard kidnapping & Barricade and Hostage incident
68. Kidnappers can be divided into three general types.  Which one is not included?

a. Criminal

b. Psychotic

c. Politically or ideologically motivated

d. Personal Gain 

Answer: D 
Personal Gain
69. When pre-planning for a strike, which areas of consideration are not major areas to be considered:

a. Wages, benefits and insurance coverage 

b. Early policy decisions, Training

c. Liaison, communications, supplies

d. Lodging & transportation and access control

Answer: A 
Wages, benefits and insurance coverage
70. In Post-Strike Intelligence, it is important that the security organization quickly dismantles the strike defenses at the perimeter and restores the appearance of a normal environment.  Areas that need to be followed are all but:

a. Inform the police & internal surveillance

b. Investigate & follow up on threats and retaliations

c. Post-strike security critique

d. Meet with employees to review the strike concerns 

Answer: D 
Meet with employees to review the strike concerns
71. Impelling type of leadership tends to reduce employee dishonesty because
a. It sets a good example

b. It creates discipline

c. It reduces employee frustration

d. It improves morale

Answer: C 
It reduces employee frustration
72. The sensor which is used when air turbulence is present in the protected room and when there are no potential false alarms sources outside the room and in the field of the detector is:
a. Acoustic detector

b. Vibration detector

c. Microwave motion detector

d. Ultrasonic motion detector
Answer: C 
Microwave motion detector
73. The sensor which is used when light air turbulence, vibration and motion outside the room are present is:
a. Acoustic detector

b. Vibration detector

c. Microwave motion detector

d. Ultrasonic motion detector
Answer: A 
Acoustic detector
74. The type of sensor which is not influenced by exterior noise; which reacts only to movement within a protected area; and which can be adjusted so the movement of air caused by fire will activate an alarm is known as:
a. Proximity detector

b. Ultrasonic sensor
c. Electro-mechanical sensor
d. Audio sensor
Answer: B 
Ultrasonic sensor
75. As a general rule, between the perimeter barrier and structures within the protected area, except when a building is a part of the perimeter barrier, there should be a clear zone of at least:
a. 50 feet
b. 40 feet
c. 30 feet

d. 20 feet

Answer: A 
50 Feet
76. Assume you are to protect a remote warehouse that possesses a space heater, has no Air Conditioning, and at times the temperature reaches 98.7 degrees Fahrenheit.  Which sensor is best suited for this application / environment?”

a. Acoustic detector

b. Vibration detector

c. Microwave motion detector

d. Ultrasonic motion detector
Answer: C 
Microwave motion detector
77. The type of lock generally used on automobiles, desks and cabinets is:
a. Pin tumbler
b. Warded
c. Combination
d. Wafer
Answer: D 
Wafer
78. The acceptable vault construction of insulated doors is a minimum reinforced thickness of:
a. 12”
b. 10”
c. 8”
d. 6”
Answer: D 
6”
79. Security vaults differ from safes in that:
a. They are tested by Underwriters Laboratories for burglary resistance
b. They are permanently affixed to the building 

c. They do not have both fire and burglary resisting properties
d. Steel is used
Answer: B 
They are permanently affixed to the building
80. A type of glass used in street-level windows or displays where security is necessary and which is composed of two sheets of ordinary glass bonded to an intervening layer of plastic material is known as:
a. Tempered glass
b. Plastic coated glass
c. Vinyl coated glass
d. Laminated glass
Answer: D 
Laminated glass
81. Which of the following is not an authentic characterization of the guard operation:
a. Guards are costly
b. Guards are generally recognized as an essential element in the protection of assets and personnel
c. Guards are the only element of protection that can be depended upon to give complete security
d. Guards can also perform as a public relations representative when properly trained
Answer: C 
Guards are the only element of protection that can be depended upon to give complete security
82. The sound wave sensor is commonly referred to as:
a. Proximity detector
b. Radar
c. Vibration detector
d. Ultrasonic detector
Answer: D 
Ultrasonic detector
83. The most vulnerable link in any identification system is?
a. Poor quality of badges
b. Perfunctory performance of duty
c. Badges not large enough
d. Educational background of security officers
Answer: B 
Perfunctory performance of duty
84. An alarm system in which the installation-owned system is a direct extension of the civil police and/or fire alarm system is known as:
a. Local alarm system
b. Central station system
c. Auxiliary system
d. Proprietary system
Answer: C 
Auxiliary System
85. The Federal law prohibits all but which of the following eavesdropping acts: 

a. Interception or attempts to intercept any wire, oral or electronic communications

b. Of those that are authorized under the Foreign Intelligence Surveillance Act

c. Us of or attempt to use the contents of any legally intercepted wire, oral or electronic communication

d. Manufacture, distribute, possession or advertising of a device that is primarily useful for the surreptitious interception of communications

Answer: B
Of those that are authorized under the Foreign Intelligence Surveillance Act
86. The primary tool of pre-employment screening is the:

a. Interview

b. Application Form

c. The investigation

d. The investigator

Answer: B 
Application Form
87. Which of the following reasons do not best describe areas that a Security Director must be concerned about when reviewing information system protection

a. System Outages & Damage to valuable property

b. Theft of hardware and Information

c. Fraud & Attacks on the Organization

d. Employee loss of time & Benefits
Answer: D 
Employee loss of time & benefits
88. When investigating computer crime in the corporate setting, the primary objectives are:  Which does not best fit into this investigation process

a. Determine the methods used to breech or circumvent system controls

b. Determine where/who the information/equipment is being given

c. Protection of the organizations assets

d. Identifying and prosecuting the individual/s responsible
Answer: B 
Determine where/who the information/equipment is being given
89. When making a decision whether to prosecute a computer crime, there are five primary five prerequisites to the successful prosecution.  Which is not one of those:

a. A policy decision by the CEO that cases will be prosecuted

b. The identification of a statue-state/federal- that applies to the discovered crime and willingness by the public prosecutor to seed an indictment

c. A determination that a computer crime has been committed after and investigation of how the crime was committed

d. A determination by the investigator that the computer crimes weren’t serious enough to prosecute
Answer: D 
A determination by the investigator that the computer crimes weren’t serious enough to prosecute
90. Training sessions consisting of a security awareness program for new employees should be conducted by:

a. Member of management

b. Special training officers

c. Security personnel

d. Consultants skilled in training

Answer: C 
Security personnel
91. Ideally, the person who should conduct the inspection of a security department is:
a. An outside consultant
b. The second ranking person
c. The security director or security manager
d. The ranking sergeant
Answer: C 
The security director or security manager
92. Perhaps the most common shortcoming in the security industry is:
a. Lack of support by top management
b. Failure to properly prepare and equip new supervisors with tools to discharge their important responsibilities (supervisor training)

c. Lack of planning

d. Lack of monetary resources
Answer: B 
Failure to properly prepare and equip new supervisors with tools
93. The ultimate responsibility for the internal security in a department should rest with:
a. The president
b. Chairman of the board

c. Security director

d. The line supervisor

Answer: D 
The line supervisor
94. Spotting the individual loss events that might take place is the primary step in dealing with security vulnerability.  This process is called
a. Loss event probability
b. Threat assessment process
c. Loss event profile
d. Actual threat analysis

Answer: C 
Loss event profile
95. From a security perspective, what is the first factor to be considered in facility construction?
a. The identity of experienced consultants
b. An effective security plan
c. An architect with knowledge of physical security
d. The building site itself

Answer: D 
The building site itself
96. The most effective deterrent to shoplifting is:
a. Highly competent and educated security officers
b. Widespread use of sensor devices
c. Well positioned CCTV’s
d. Well trained personnel

Answer: D 
Well trained personnel
97. The ability of design to counteract the perception that the area is isolated and criminally vulnerable is known as:
a. Natural Surveillance Techniques
b. Image and Milieu
c. Soft Area Protection
d. Territorial Cleansing

Answer: B 
Image and Milieu
98. The major item conspicuously absent from police-based crime prevention programs was:
a. Comprehensive training program
b. Manpower dedicated to crime prevention concepts
c. The input of huge number of persons employed in private security
d. Use of up-dated technology

Answer: C 
The input of huge number of persons employed in private security
99. Which of the following characteristics do not pertain to the use or effects of depressants generally?
a. The usual methods of administration are oral or injected
b. Excessive use results in drunken behavior similar to that of alcohol
c. There is no danger of tolerance developing
d. Taken as prescribed, they may be beneficial for the relief of anxiety and tension
Answer: C 
There is no danger to tolerance developing
100. All of the following are controlled substances grouped as stimulants except one.  Identify the exception.
a. Cocaine

b. Amphetamines

c. Phenmetrazine

d. Mescaline
Answer: D
Mescaline
101. All of the following are hallucinogens except:
a. LSD
b. Marihuana
c. Mescaline
d. Phencyclidine

Answer: B
Marihuana) 
102. The state of periodic or chronic intoxication produced by the repeated consumption of a substance is known as:
a. Tolerance

b. Addiction

c. Habituation

d. Drug dependence
Answer: B 
Addiction
103. The relationship in which two parties agree that one will act as the representative of the other is known as:

a. Contractual relationship

b. Fiduciary relationship 

c. Partnership relationship

d. Agency relationship

Answer: D 
Agency Relationship
104. Wrongful appropriation of the personal property of another to the use of the taker is a tort called:

a. Conversion

b. Larceny

c. Trespass

d. Embezzlement
Answer: A 
Conversion
